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Question Number : 1 Question Id : 7336876180 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If Vector A= i(x+3v)+j(y-2z)+k(x+cz) 1s solenoidal. then constant ¢ value
D% A= i(xH3y)H(y-22)tk(xtez) arOTrondd HOS @00, VTr0¥0
‘e’ eN

Options:

1. %



Question Number : 2 Question Id : 7336876181 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

JJ(V<A)-dS=$A.dl . This equation is known as
JI(V<A)-dS=PA.dI . HDESedm

Options:

Stoke’s theorem

o TERT0SI0 B BrDOHH

(Guass’s theorem

L TR RG0S0 & Krdothin
2.

Green’s theorem

1S DT°0830 D IrDoTHSIm

Wein's law

L x DSIRETOSKD & drDothiy



Question Number : 3 Question Id : 7336876182 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The total mass of rocket 15 8000 kg. The exhaust velocity of
gases 800my/s. The required burnt rate of fluid to lift the rocket is
2.8 T3 Jwddan ($:550°3 8000 3.2, "3 odk ardesn edde

J"ONY S0 300m/s ©oNd T3 BIETNE FIOVN R0SI0 BTN
o]V

Options:
- 72kg/sec

, 102kg/sec

98kg/!
" g/sec



Question Number : 4 Question Id : 7336876183 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If kinetic energy is not conserved and momentum 1is conserved then the
collision 1s

Ked 48 Qdedeed ¢ A |Ern)) arre30tin), (a9 e ged ¢ K| ehoin
eIV ) DT

Options:

inelastic collision
" eDTHE @2)dreho

elastic collision
VBT HE 9 Nredo

elastic and inelastic collision
VATHE DB VATHDE ) HTrdo

inertial collision

230565 £ e92) D0



Question Number : 5 Question Id : 7336876184 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A gyroscope 1s primarily used to measure or maintain orientation and
1226062 &38R R eS0T OF OO ----—-- Fenchtrdy Boe b sy
Gadirfiosdd

Options:
Force
| % 230000

Linear acceleration

TDOD b cHeas50
2. %

Angular velocity

eIas FHeso
3.v

Moment of mnertia

4% 220565 c27ma0 S0



Question Number : 6 Question Id : 7336876185 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The equation for precessional velocity of a top 1s
S 08350 B E) sHBDIS S A3wE); DaBBEI

Options:

wp = mgi/l

1.%
o, =mgr/Io
2.9
- P
®, = Mgr/®
3. %

Wp = gr/®
4, %



Question Number : 7 Question Id : 7336876186 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A wheel 1s rotating with an angular velocity of 400 rev/mm on an axel.
Another wheel of same as first one and is at rest. When both wheels are
joined together on same axel of the fust wheel, their common speed of
rofation 1s

28 5 D 28 B0 400 HOeren / Ao FHaH SGS
ABEHER) Q. FAES LIRS B NP AL D S Bocked g0

2 520 8 265 T, @0 & DO T o0yt Te30%H 9B Qe

Options:
200 rev/min
1.4

400 rev/min
2. %

600 rev/min
3. %

800 rev/min
4, %



Question Number : 8 Question Id : 7336876187 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one 1s not a central force
1Bo® ¢3S ToIAOH 220850 S

Options:
Gravitation forces
} DHed sreren
1.
Electrostatic forces
. DEI IS deren
2.
Elastic forces
L x  OSTDE 2ereN

Frictional forces

009 eren
4.



Question Number : 9 Question Id : 7336876188 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The time pertod of a planet m an elliptical orbit around sun 1s 225 days. The
ratio of semi-major axis of the planet to earth 1s

S8R L0EY A 59858 885 28 11570 B850 225 B2rerand
11 88, 2 88 © @98 A5 A dexsd

Options:

0.472

1. %

0.427

0.274
3. %

0.724

4.+



Question Number : 10 Question Id : 7336876189 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

If radms of earth 1s decreased by 50% without change m 1ts mass, The
change 1n time period 15 (The time pertod of earth 1s 24 hrs)
B35073E St B0 & arsardo 50 F 0 owdaGE 0
236500 TSN S5 (257D 2355809 S0 24 Koeyen)
Options:
8 hours

1. %

18 hours
2.

, » “4hours

22 hours
4, %



Question Number : 11 Question Id : 7336876190 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not an mvarant in Galilean transformations
ON0NS Eraroesd DS Srod) 78S o7

Options:

Velocity

309550
1.

Mass
10035073

Force

226300
3, %

Acceleration
€% £9ED
4. %



Question Number : 12 Question Id : 7336876191 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

In Michelson-Morley experiment, the mirror is 2m distance from glass
plate and the wavelength of monochromatic radiation is 6000 A°. The
fringe shift is (v =3x10*n/sec)

236 S - 30 (TSNS’ e (glass) oD, 2m Erdene’
(581896300 5030, )8 903 G308} 5015 TYa 6000 A° . €900 NE:

DTN0 e (v=3x10"m/sec)
Options:
6.7

1. %

. 1.6

0.067

0.1



Question Number : 13 Question Id : 7336876192 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The length of rod moving with a velocity v relative to the observer 1s
contracted by a factor
N0 GYrE v 08 FH0ES (Hreiocieind) 2.8 §G o)

NOETIOTI SBEN Qe

Options:

V 1- v¥/c2? in the direction of motion
L v V1-ve? 800 O3S

[ : " P 5 = "
v 1+v%/c? in the direction of motion

2. % V 1+v2/e? #5505 &FS’

v 1- v¥/c? in the direction of opposite to motion
V 1- v¥e? 55085 BFZ0 H5B3DEAFS

3. %

\ 1- ¢2/472 in the direction of motion
V 1- 22 5065 &%



Question Number : 14 Question Id : 7336876193 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The Lissajous oscillations make a figure of eight 1f the frequency is of ratio

O B0 NG 85606 GOREE THORS %
350 e

Options:

0

11
2. %



Question Number : 15 Question Id : 7336876194 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The compound pendulum 1s suspended through the axis passing through
the centre of gravity. Time period i

198 SO HXDed s 0|6 0e3 PTBP 98 s BT Serch
B, T 835

Options:

Lisee.

1. %

Infinity

o w
_ 9O EHD

5 % 20 Sec.

100 Sec.

4. %



Question Number : 16 Question Id : 7336876195 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The quality factor of a forced vibrating system is 2x10° It is making 240
vibrations per second. The relaxation time 1s given by
207(65).¢ BOTEN TN 90 TwE), (Hed 272380 e 2x10° .

@B 8030 240 00eN TOWLD) TR T3E), DT SN 206
Options:

% 3-27 sec

-2

37 sec

3 v 1.327 See.

13.2 sec



Question Number : 17 Question Id : 7336876196 Question Type : MCQ Option Shuffling :
Yes
Correct Marks : 1 Wrong Marks : 0

Amplitude Resonance 1s a special case of
5020 HOE DT, (80 BIOD 0NN TBwd), (B8

NelaT AW

Options:

Forced Oscillations

v 22057 €80),.€5 500N

Damped Oscillations
2955 BoDTreN

Free Oscillations
L, ) Sodmre

Un-Damped Oscillations
299D TOR BODTEN

4, %



Question Number : 18 Question Id : 7336876197 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The root mean square (RMS) velocity of gas molecules directly proportional to
( T absolute temperature)

2,8 TO0) By D38 g ko0 (RMS) , (RMS San) & (80O
D08 S P 0. (T @G Foine) D6 & fie)

Options:

T

1. %



Question Number : 19 Question Id : 7336876198 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The assumption for velocity distribution in gases 15 gas consists of molecules
with all possible
050 S DO [HBPEIOS TOMS Eed) )OI P
Sre
Options:
Velocities equal to infinity only
90TV DTSR 37D o)

Negative velocities
B0EF°e528 2)eNIEON 6HO RN

Other than zero values
37556300 5°8 S0 eI 0§

Velocities between zero to infinity
4 v QO A0 05 IOED



Question Number : 20 Question Id : 7336876199 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The entropy of the universe i1s

&z ¥ £30 AW E) DOIES D

Options:
Constant

e IS
1.% =

Continuously increasing
, o (B0 AMERD CFOCRD

Continuously decreasing
, Bsddorr 5(Des) E50 L
3.%
Zero
. AP0 §o0)



Question Number : 21 Question Id : 7336876200 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The total change m the entropy of a substance during the complete process of
reversible cycle 1s
B51565 1IZANS oSS S5m8d)
Options :
Zero
PR A NIENY

Increase

« oM

2.

Decrease
5D

3. %

first mcrease later decrease
4 % SVEE OO Bares SHD



Question Number : 22 Question Id : 7336876201 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The efficiency of an ideal Carnot engime working between temperature Ty and
T, 15 1/3.If the temperature of the sk 15 reduced by 40%.then the efficiency
will be

Tie Ty Coalfiese) 0635 RO 2.8 50 500(ehadd 9§ 1/3. 208
(T2) esol(§e5ed 40% SH0R, 5869 e

Options:



Question Number : 23 Question Id : 7336876202 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The Joule-Thomson coefficient for an 1deal gas 1s

2,8 833538 306 O3 EY 27O, TN DEIZN DN
Options:

Zero
MIPRR SUNIENRY

Positive
- ATNE IO

Negative

5 x QVETEHIBHNN

Infinity
INTOT NN



Question Number : 24 Question Id : 7336876203 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The Four thermodynamic potentials are
eV (€38 F5°00

Options:

HFUZ

1. %

, o EHUG
,« HIUZ

,» BHUZ

Question Number : 25 Question Id : 7336876204 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The Clasius-Clapeyron equation 1s
SPROND = ST DadEBDEI
Options:

., dP/AT =L/T(V¢ Vi)
. dT/dP =L/T(V£Vi)
dP/dT =L/(VVi)

3. %

dP/dT =T/L(V~Vi)



Question Number : 26 Question Id : 7336876205 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The adiabatic demagnetization 1s a method to produce

VEAE D0, 0e35SEN T°50° 180 AT Bsef|fesen
315296920 e
Options :
high temperatures
% OO8 csal|fiesen

normal temperatures
PG teal| (ieden

negative temperatures
200069 Tl Heden

low temperatures
@) ) tsal|(Ieden



Question Number : 27 Question Id : 7336876206 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
In porous plug experiment, for a given pressure difference across the
plug ,cooling 1s greater if
SPER A TS 28 AODNE 2 358750 I NG 5O Bededd
&6) €| 169 20 8 T BTN,

Options :

The nitial temperature 1s high
- SE) GaX|11ed BN M E5d) ) ICR

The 1nitial temperature 1s low
- ) &l (5 €9 )3 T €59 o) )C

The initial temperature 1s moderate
SE) X196 DL ) a))CRD

3. %

Cooling does not depend on the initial temperature
L DTE DS (927630 SO EaF|5ed T TS DD



Question Number : 28 Question Id : 7336876207 Question Type : MCQ Option Shuffling :
Yes
Correct Marks : 1 Wrong Marks : 0

Expression for Joule-Thomson cooling 1s given by
'S 5700 FHDESED Do SIS

Options:
. AT =-(2a/RT -b)/ICp x (p1-p2)
. AT =(2a/RT -b)/ICp x (p2-p1)

5 » AT=2a/T -b)/JCp x (p1-p2)

. » AT=(2a/RT -b)/Cp x(p1-p2)

Question Number : 29 Question Id : 7336876208 Question Type : MCQ Option Shuffling :
Yes
Correct Marks : 1 Wrong Marks : 0

The probable maximum temperature measurable with optical pyrometer 1s
B35 2 TeD & T3 B0 50 st feb (0eiorT)

Options:

4 200°C
. 700°C
, . 400°C

L % 7000°C



Question Number : 30 Question Id : 7336876209 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The total emissive power of a small black body is 4.5 kW/m?. its surface
temperature is given by  (6=5.672x10% )

28 D), Bk ded) ADOT) BENE w0 I88GeD 38 4.5 kW/m’ 9omed )
¢a&l 165 e0e(0=5.672x10* )

Options:

45.65K

fd

1. %

Question Number : 31 Question Id : 7336876210 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The absorptivity coefficient of a perfect black body 1s equal to
HBYE By SNy T EY T2 Hreagadn Dened
Options :

0.2

1. %

, « 04

1.0

3.4

0.7



Question Number : 32 Question Id : 7336876211 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The energy distribution in black body radiation spectrum can be explamed by
£33 580 58 e’ 38 Dedea HBOD BED Her0s T

Options:
M-B statistics

M-B tfear08 77| Qa0
1. %

F-D statistics

, % F-D ffegro8 79 Qsiw

B-E statistics
5 v B-E ie3708 37 Q0

F-F statistics

4 % F-F (€208 3°(Qaw



Question Number : 33 Question Id : 7336876212 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
Five particles are distributed m two phase cells then the number of microstates

1S
Boch ¢ S S 0 SeTen H0ed TS & ;e o
Options:

.« 10



Question Number : 34 Question Id : 7336876213 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

In a canonical ensemble
SOED DS VOO &S

Options :

Entropy and density are constants
| x DOLED B0 FO(L5eh DETHEN

Temperature and volume are constants

- Eool’ (165 DO NEADBITEIIND VST HEN

Entropy and energy are constants
5 % DOED HBAMD F8 VBT e

Energy and temperature are constants
4% 35 000 sfied WSTHEN



Question Number : 35 Question Id : 7336876214 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The total normal flux Q¢ through over a closed surface 1s equal to (1/€0 ) times
the total charge Q enclosed within volume bounded by surface. This statement
1s known as

2,8 05398 0 900 S Frehes (fotal) s DTN, SOANNS WO
(e D A 3% Q Vessdy (1/€0) BY &ochd

Options:

Faraday’ law
PET QO

1. %

Gauss’s law
5 T O

Lenz’s law

. 025 QAN
3,

Ampere’s law

4 % SO0VONO DO



Question Number : 36 Question Id : 7336876215 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
Electric potential at a pomnt distance of 0.5m from a spherical conductor charged
to InC 15 given as
InC e 008 Mersd s aurdan 009 0.5m &rdod Nhges
SFBVODO DENe)

Options:

| @ 18V

L« 24V



Question Number : 37 Question Id : 7336876216 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
A pomt charge q 15 placed at the center of a cube. The flux linked with each face
of the cube 1s

S0 IS aTaT8e5) T01C3a0 3G  e5T3Ho50 B, [$98 L3¢5e) sSmpae (face)
CDNEG E)) DT DN

Options:

U
> q.'f(fl'gﬂ)
3 % qf(zﬁo)

. q/(4eo)



Question Number : 38 Question Id : 7336876217 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The force between two parallel current carrying conductor’s 1

F. If the current 1n each conductor 15 doubled then the force between then
becomes

D3 [Dararald SOR ey BOch Deiroedd ararierngs 200 F. Boch
FTENOS R D3 o BEI0w) T 2020 Deed

Options :

F/4

4. %



Question Number : 39 Question Id : 7336876218 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The direction of a magnetic force on a current carrymg conductor 1s
DTS (DOt T, S SNCHNG &) 08 236> O
Options:
In the direction of current
o DS (D OIS GO
45° to the direction of current
DEDES (DI BFBY 45° TSNS S0

Perpendicular to the current in the same plane
o O3S DaTaTe €508) SIS D B0 (DTETANIE SO GO,

In a perpendicular Plane and Perpendicular to the direction of current

DS DTeT €565 SEPAE 02BN’ GO, [HaTeToNXNE Q0T
&0CH

4.



Question Number : 40 Question Id : 7336876219 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The Magnetic energy stored in an mductor of 10mH and with a current of 6
Amp 15
10mH Dexsd $OR 6 02006 © DS (HaFotHEN) 28 DEZ0S BB
@006 35D
Options:
10 x 107 Joule

1. %

- 3
5 180 x 10~ Joule

80 x 107 Joule
3. %

100 x 107 Joule



Question Number : 41 Question Id : 7336876220 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
A ballistic galvanometer should be designed with
7S 2% Trer50" 0EID o (80E B3 50ES ©F 9508 AB 0570

Options:

Small pertod of Oscillations and negligible damping constant
502,03 GO ST 57D, €98365507.09 @I VTP0EM

1. %

Large period of Oscillations and negligible damping constant
- DB0) BORT® ST TOHN, €963¢530) 3 @SRE DTP0ESN

Large period of Oscillations and more damping constant
5w V80D SO e3¢0 520830, B0 @K DTP0EAN
Small period of Oscillations and more damping constant

4% 58025 BOT SOTRS FOH, DB @SHE DT08L



Question Number : 42 Question Id : 7336876221 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The Ampere’s law states that
230000 QO [5G0

Options :
Divergence of H 1s same as flux
H 2958589 @92)3%37%300 ArO0™ T &0

1. %

Curl of D 1s same as the current
5 % D 308y 80 DENES 1DTTAE Dadordedn

Divergence of E 1s zero
E @538 357050000

Curl of H 1s same as current density
4 v 50 HO3é ro(cheh S8 €50



Question Number : 43 Question Id : 7336876222 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The Poynting vector is given by
PON0E3A HEF BB

Options:

P=E/H

1. %

,, P=EXH

P=E H
3. %

, » P=HE



Question Number : 44 Question Id : 7336876223 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following equation 1s modified by Maxwell to form a set of
Maxwell’s equations.

75 ) SO D005 T ADEGETEN §e0, (80 KO o) a0EEEIM
MR INA)

Options:

Gauss law for electrostatics
D DENES TR DA

Gauss law for magnetostatics
VG 9OHRT065 TR DAV

Faraday law of electromagnetic induction
STPET DCNSS Y006 B9 DO

Ampere’s law

23000 DODID
4.



Question Number : 45 Question Id : 7336876224 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The normal component of which quantity 1s always discontiuous at boundary
805 tfe> ©025 @908 THOS Dow3 boundary ¢ e85 &0

Options:



Question Number : 46 Question Id : 7336876225 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

In LCR Series resonance circuit, at resonance the reactance of capacitor and
inductor

LCR (363 50006506 e9:areion ¢ §5790) (Saratad) (98 m a5
(288 HBAE0

Options:
Are not equal and differ in phase by 180 degree
D330 5°¢) 1800 ¢573°23¢5e5m ek

Are equal and in the same phase
555756300 2,8 94363 B0
2. %

Are equal and differ in phase by 90 degree
RNV 90° ¢53° Z3¢5a30

Are equal and differ in phase by 180 degree.

4 o 0001800 C5B*23CI090 EOCHD



Question Number : 47 Question Id : 7336876226 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
With the increase of frequency, the inductive reactance
D732 235630 D VODN, DGE (DB ESES0
Options:
decreases
(DD

Increases
5 ¢ 8D

No change

0PN JEEOCHCD
3. %

Becomes zero
£ 555055

4. %



Question Number : 48 Question Id : 7336876227 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

A capacitance of 3uF discharges through a resistance of 200KQ.The fime
constant of the circuit 15

3UF 3008 e § 736 (capacitance) 200KQ A5 e 5o &a)d
DTN A, 0N &8 OO 5 DT°0ZN eV

Options:

0.6 sec

0.98 sec

1.4 sec
4, %



Question Number : 49 Question Id : 7336876228 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
Norton’s theorem 1s true for
TS VT0eb30 (06 a7¢36S” 2 Seairerdy SO0t
Options :
Non-linear networks
PN AAAHE SOAFEN

Linear net works
- ODOHE Jerasren

linear and non-linear networks.
ODOND DB TS OGNS S90S

3. %

Not applicable to net networks.

4 % OO HGOTHCH



Question Number : 50 Question Id : 7336876229 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

According to Thevenin’s theorem many sources can be replaced by
BN AT0SN (NSa T SR BSTOD 808 A5G D IS
ARV
Options :
One voltage source with series load

. 2,5 o5 22 2335550 |33 S¢h BG5S &

One Current source
. 2,38 DENES 2338550

One voltage source 1 parallel with one current source

253 o3 B328 230356500 B de3T0B0M Eenit 22E DS 23850 &
3, %

One voltage source in series with one current source

28 S T2 2358530 SHBA (33 S EeNHDAN IS BdESN &
4. %



Question Number : 51 Question Id : 7336876230 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The average power propagating through a vibrating stretched string clamped at
both ends 15

B0 DS R0, O S0 S0mre) P50 HTG densd

Options :

Inversely proportional to the amplitude
50D DB DS KD oS GO

Inversely proportional to the linear density
BDAH FOCIHH) DS HTRD FSOSEOCRD

Inversely proportion to the wave velocity
BB0M SISNB DS KT 0SS GO

Directly proportional to the square of frequency

92 558 HTVE €9eDES ST DSOS cHOCRD
4.



Question Number : 52 Question Id : 7336876231 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

A copper wire of 300cm length has a mass of 10gram. The wire 1s stretched
with a tension of 1200N.The velocity of transverse wave travellmg along the
STng 1S nearer fo
300cm sy ST & (5295073 10 (e, & edtf 1200N sbossed e
DA, B & HOTE (AP0t B8 S0 o) DN KPP

Options:

600m/sec
1. ¢

300m/sec
2. %

150 m/sec

900 nv'sec
4, %



Question Number : 53 Question Id : 7336876232 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The equation v =(2n-1)/2l  Y/p represents frequency of
nth mode of longitudimal vibrations of a bar which 1s
v=20-1)24 VYl oF Hd80emsin $66 Hardoch ) B édomre
nth mode &0, es¥id
Options :
fixed at both ends
, D0 DA3Q DAOD teH) &

Free at both ends
, % OOC® DG VFAIT &)
Clamped at nuddle point

- DG 20CNHY S DA0D G E

Fixed at one end and free at other end
. 28 DIS DA0 26 ITE DS VI 59O



Question Number : 54 Question Id : 7336876233 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

A string of 4m length, 1.2ke mass and having 500N tension. The transverse
wave velocity m the string (nearer to)

2.8 O B Py Am, (35508 1.2kg S, 556 S00N evones esedies”
ATE0D 358 BSOS e (DSrm)

Options:
v 40ms

/
, w o0mV/s
AU T

120nv/s
4, %



Question Number : 55 Question Id : 7336876234 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

In which of the following, the interreference is produced by division of
wavefront
18065 S BAS' SEOTT{] Deseed T 5T° H5BEBERN )

Options:
Fabry-Perot Interferometer

SPND-DTE 535S STESD

1. %

Michelson’s Interferometer
- DEO DD 23538 S9oIT° I

Newton’s rings
NVETATSINISTo VWS

Fresnel’s Biprism
PPN DRVARRE



Question Number : 56 Question Id : 7336876235 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The conditions required to observe sustamed mterference, the two light sources

should have

DO o95350E2a100050 BOCK) S0 2)02F) FHIOW VZ0IIEN
Options:

equal frequency, coherent, equal amplitude

- QDedTeITTI2 o)e5o0d), LI0IEEH. eI 50 dabed
different frequency, coherent, different amplitude
- S0 T T2 adgedn, D02 ed T T 0D DB

equal frequency, non-coherent, equal amplitude
3 % T T2 $YRI§e3, @0IEIEH (eI F0 DB
different frequency, coherent, equal amplitude
4% 200 BB W2 aYI5e0, DO DX FODD HOE



Question Number : 57 Question Id : 7336876236 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The color of soap bubbles is due to
H220) 206" BorHen DSICHEIED SEBeISW

Options :

Interference
! i
- 5538 BED AN

Diffraction
SAINTO NN

2. %

Polarization
1603620300

Double refraction

PIPREAIENEEANIENY



Question Number : 58 Question Id : 7336876237 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
In Newton’s ring experiment the diameter of 10® ring modifies from 1.4 to

1.27 cm when the air film is replaced by a drop of liquid. Then the refractive
index of liquid 1s

X500 SOOI (BRSNS TOFED (55 DOCDYS 5388, 105 SeHaadn
Togg 75920 14 00D 1.27 cm £ 78036 @00 (36322 TuE) S(8eded
Headam

Options :

w17

w21

v 1.2

1.9



Question Number : 59 Question Id : 7336876238 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
In Michelson Interferometer, to switch from bright fringe to dark fringe, the
mirror should be displaced through a distance of
86 358806 TSNS, Tt I 0D D3 T & e )%y, BB
200 O e,
Options:

4% MO



Question Number : 60 Question Id : 7336876239 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

When interference of light takes place
2353585500 23805 )ch

Options :

conservation of energy holds good and energy 1s redistributed
v 35 edged 530 2200, 45 S3OR Dedded TOCHD

energy 1s destroyed in the region of minimum intensity
s 50 S5 S5S 38 DTHI5 BHDHD.

energy 1s created in the region of maximum intensity

5w (102} 8156 ffo IDBFOS’ 38 DB

conservation of energy does not hold good

35 Qedsed ¢l are30tHaacscd
4. %



Question Number : 61 Question Id : 7336876240 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The resolving power a grating to resolve lines of sodium doublet of
wavelengths 5890A° and 5896A° 1s

5890A° 8050 I896A° SAAH0 Sty Ternd e Eeastn Tahueddy (FeSoh
50 FRION Y08 N30

Options :



Question Number : 62 Question Id : 7336876241 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

Single slit diffraction arrangement is immersed m water from air, without any
change of any parameter. The width of central maxima

2,083 DOF DG BRI o) 5D ) T FOS D0 NS SO,
50(¢) (1) Schen)
Options:
Decreases
| (D

Increases
5 % MHD

No Change

3 x 0" EsOCCED

Becomes zero
CARNTENIaATNY

4. %



Question Number : 63 Question Id : 7336876242 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

When zone plate 1s compared with Convex lens, which statement 1s true
0G0 HOED §002r56 S80S O, 1800 xS NOVBTSE

Options:

Zone plate forms the image by refraction and convex lens forms the image by
diffraction

5006869 OF 25856303630 SO (B0 DEIEDEDRD 50275 E80 DGedesd
508 DB,

Zone plate forms the 1mage by diffraction and convex lens also forms the
image by diffraction

2D0CE) DO DI N300 KT 500275 50 DB I
AOAVATMY

Zone plate forms the image by refraction and convex lens also forms the image
by refraction

3089 08 358599650 230308 (B0 GG SHOKN K027 §830
8705 2315256305500 SO BN,

Zone plate forms the 1mage by diffraction and convex lens forms the image by
refraction

30869 Dada0IOR EI02FS EEI0 oS(S2eiedes) SO (5368 D)02eN0D
DD,



Question Number : 64 Question Id : 7336876243 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

Io is mtensity of polarized light falling on a polarizer, the polarizer and
analyzer are perpendicular to each other, then the mtensity of light passing
through analyzer 1s

10 &3¢ SO (DS 08, (DSBS M D530 TOBSE. &8 (508
S50 0D €ed) VB 6 DO (DTN, VAT S| eaded

Options:



Question Number : 65 Question Id : 7336876244 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
Mo, Me are refractive mdices of ordinary ray and extra ordinary ray then for
positive uniaxial crystals .
Lo 60 80569 8 2P0 HEAEAND, P ORITIED 8380 (S 2maed HoEated @OW.
258 o (St 9 1638s5men

Options :

e < L
1. % A

2. = 1

He = Ho
3. %

. le = Ho=0



Question Number : 66 Question Id : 7336876245 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

A halfwave plate 15 constructed for a wavelength of 500A°. The wavelength for
which the same plate will work as quarter wave plate 1s

J00A° eddor BTTRE ©QedG0l &8 A8ed FONAE. A0 T04 0(f ST
D5 0N B30 Aea)

Options:

v 1000 A®°
250 A°

2. %

1200 A°
4. %



Question Number : 67 Question Id : 7336876246 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The transition zone for Raman spectra is
T%0R , VYED S D8NG TR

Options:

Between electronic levels
DO 55 B ) NS

1. %

Between magnetic levels of nuclei
BOESNS Q) @500 BSOSO ) s0ESS

Between neutrons levels
AT5E°R BdD ) 65§

Between vibrational and rotational levels
E0D, 12563062 VD) 65



Question Number : 68 Question Id : 7336876247 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

Which 1s not a molecular spectra
1808 ¢3S @E SPNEISNTE

Options :
Pure Rotational spectra
DIV 253069 5P D a0

1. %

Emission spectra

5 TS 3QDEIN

Vibrational Rotational spectra
E0c (2363082 3¢ DM

3. %

Electronic band spectra
DO FTE 83 $5GDEIIM

4, %



Question Number : 69 Question Id : 7336876248 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

Zeeman effect 1s the splitting of spectral line m the presence of
1808 T TR (232769550 908 B OB 586 Ben AN Hd

Options:
Electric Field
- DEDSS T (69030
Inert Environment
. 22565 € PEFIEIN

Magnetic Field
eO0NY06h T |55

Vacuum
4 x T50S



Question Number : 70 Question Id : 7336876249 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is true
1808 ¢3S HBTBIE

Options:
The - coupling scheme 1s used for lighter elements and the L-S coupling
scheme 1s used for the heavy elements

I gSin BOBS dirosos LS ddyddin rodroso ok
1.

The j-j coupling scheme 15 used for heavy elements and the L-S coupling
scheme 15 used for the lighter elements
, 17 OaFden 2P0 reseR, L-S ¢k 80507055 $S80tHe
2.

J-] coupling scheme and L-S coupling scheme are used for the lighter

elements
) 1] o805 L-S 330)%3a30 BochEre SO50rO5e5) $80thed.

1] coupling scheme and L-S coupling scheme are used for the heavy elements

) 1] o080 L-S 33083600 €0 BochEres 208 s0re50eh G0,
4,



Question Number : 71 Question Id : 7336876250 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
In photoelectric effect, when the intensity of incident light mcreases
08 D5 DO’ 530N, TS €569 WO
Options:

Photo current decreases
- S°0€3 DD (2ITTO (P

Kinetic energy of emitted photoelectron decreases
JENDEBS S DOITS © (963 38 v

Kinetic energy of emitted photoelectron increases
SENDAS S DTN © 1§83 38 DO HD

Photo current increases

A 5°0€3 DCDFES (2T el DD



Question Number : 72 Question Id : 7336876251 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

Light of wavelength 5000A° falls on a metal surface of work function
1.9eV.The kinetic energy of emitted photoelectron 1s (he=12400)

5000A° 50 Bisssnde sroB88eren, 1.9eV HS00um §0) ¢ o eiBedesn
2 B30, BT S do e o daads  (he=12400)

Options:

0.58 eV
1.4

2,486V
Lo 1246V

1.16eV

4, %



Question Number : 73 Question Id : 7336876252 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

As per Bohr’s complimentary principle
°D D0YBE DO [D5Badw

Options:
The wave nature and the particle nature of the matter can be observed

simultaneously
2,8 |C9095a30 2,8 PO 8890 5253030, HS0M 2§26 (¢80T )N

There 1s no wave nature and there exists only particle nature to matter.
|C5e93a000 S0 0 52Ta)al B, 53O0 869 §2Tadal) oIFEd S

The wave nature and particle nature of the matter and light complimentary rather

than contradictory.

155930500 001 8 52753030 3890 52700 MOS0 $OR G50Er0n $R AAOEOM SO
3 @ GG,

There 1s no particle nature and there exists only wave nature to matter
200090 869 2 5279050 BEOT ToIe0) G0 ) 3273600 S5 GO



Question Number : 74 Question Id : 7336876253 Question Type : MCQ Option Shuffling :
Yes
Correct Marks : 1 Wrong Marks : 0

Relation between group velocity and phase velocity m dispersive media
DT 8 OSrSESNE, BAMe50, ety 00 s1¢55 0O
Options:

Vg =Vp + Adyy/dA

1. %

\«'Tg :\-“Tp - A d‘r.,rl_-,f'd;‘u

2.

, x VEVPS Mdy,/dA

Vg =Vp- dvy/di
4. %



Question Number : 75 Question Id : 7336876254 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The de-Broglie wavelength of electron accelerated from rest through a
potential difference of 100 V 1s
D410 D800 100 V R0 Fesad &r 507 ¢ 5563 3800 JOF70) Ty,
50 e50i 500 Dena

Options:

1225 A8



Question Number : 76 Question Id : 7336876255 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
If y; andy, are two mdependent solutions of time independent Schrddinger
equation, then which of the following is also solution of same Schrodinger
equation

V1, 2 €0 S'0u) 33 S ¢8R, |02 anseassn gy 35e50(eh HOSBam0en
€900 (solution) &S ¢3S S HDEBE0 TwEy NN (solution) |S¥oad
QaNEBEINE A0
Options:
1% V12
Y1 /2

2. %

_|_
3@ Vi1 T\~

15["2 f‘ljfl

4. %



Question Number : 77 Question Id : 7336876256 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

Any wave function can be written as a linear combination of
2 301 300N T, 18003 TDODH TP BOH TN

Options:

Eigen Vectors
20050 QO

1. %

Eigen Values
. 2005 DeNIEN

Eigen Functions
. 201 [2e0AEN

Operators
300D



Question Number : 78 Question Id : 7336876257 Question Type : MCQ Option Shuffling :
Yes
Correct Marks : 1 Wrong Marks : 0

The counter consisting of photo multiplier tube
52063 QY )3 §DA ffeaso
Options :
GM Counter
. « GMeaso

Scintillation Counter
5 & d))OE (s

Proportional Counter
3 % 00 (80

Cloud Chamber
. 0N W38



Question Number : 79 Question Id : 7336876258 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The Geiger Nuttal law m nuclear physics describes the relationship between
30158 TR, D o5ED Aohesed o) BOGOES eSS H020mE B
AW

Options:
Half-life of radioactive nucleus and the energy of emitted a Particles

- DA 77028 S0(¢38a0 ) @8 5050 B JenHG o s 45

Half-life of radioactive nucleus and the energy of emutted p Particles
- OGO G108 50380 3wy 99 Ze5esn DO FeNDAN f 50 48

Half-hfea of radioactive nucleus and the energy of emitted Y Particles
- OB 8% So|%aw |8 @8 £ed B0 Y P seaer 48
Mean life of radioactive nucleus and the energy of emutted f Particles

} OGO 7838 0380 Tawgy it Beseren DB FeNDGES P Seae) 43
4,



Question Number : 80 Question Id : 7336876259 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

Which i1s not the characteristic of nuclear forces
808 ¢3S DO S01¢5% (nuclear) e % g0 5°¢DH

Options:

Short range
SIONEVEEY

Spin independence
Cr E LT
QM 2 L0 ehed

, ¢ O S0
Charge independence
5% o3 D 5650| ched

Saturation
DOEd )b



Question Number : 81 Question Id : 7336876260 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The crystal structure having lowest atomic packing factor(APF)
580200 APF (2969275800 5°¢56dw) fie) 00838 DT80

Options :

SimpleCubic(SC)
QG o0 (SC)

1.4

Body- Center Cubic(BCC)
33 Solesed Hcso (BCCO)

Face-Center Cubic(FCC)
D% 3015 sSo(FCC)

Hexagonal close packed(HCP)

4 % QUED 825 rs8on(HCP)



Question Number : 82 Question Id : 7336876261 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
X-rays of wavelength 1.5 A” are mcident on a crystal having a grating spacing
of 2.8 A% The highest order, crystal can diffract is

1.5 A® 650 Bsotier X 88emen, evodhtrey Sl cirdiain 2.8 A% R 2363850
D 25330 TOAD. 850 DeIsein Todrte 1631 &3 Dexed

Options :

1w 1

Question Number : 83 Question Id : 7336876262 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The number of Bravais lattices in three dimension space are
[BAODH SOKINS R, 25 TOT HOW§

Options :

11

1. %



Question Number : 84 Question Id : 7336876263 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The Born-Haber cycle 1s primarily used to calculate
237D) 700 H0NSVD (§0E TR TENTNELY ceBDA0IGO

Options:

The lattice energy of 1onic compound

- @0HAE compound 237e>¥ 45

The lattice energy of covalent compound
555 0¢5 compound zre>s $§

The lattice energy of inter metallic compound
@06 5’5 compound 2328 ¥§

The lattice energy of molecular compound
eoe compound e 45



Question Number : 85 Question Id : 7336876264 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The Fermu level for an mtrinsic semiconductor lies
HD G TEINOS 8 BSOS S0 Fdsw

Options:

Midway between valance band and conduction band

o D0TBrRE 805D IE 63 S0CS

Nearer to conduction band

L x TATE HEE SHST

Nearer to valance band
HOTIraE HEIE S

Outside conduction and valance bands

JOTITF2E g D3 Jende
4. %



Question Number : 86 Question Id : 7336876265 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The temperature coefficient of resistance of a semiconductor 1s
2,8 @0 8 G gy DO dosk|(fed headsin
Options :
Positive
¢dared 50

Negative

200677652830
2. ¢ -

Zero
3 % BROSD
Positive and negative

(3e0°€9 250 20800 200ea7¢950
4, %



Question Number : 87 Question Id : 7336876266 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
Efficiency of a full wave rectifier
8 S0 DE OX).865 T Ey. 55 6 Densd

Options:

40.6%

1. %

. 61.3%

81.2%

3.¢

92%



Question Number : 88 Question Id : 7336876267 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The doping level in Zener diode when compared with p-n diode levels
PNl GOG & O3k, BD BIrG SrHEGan e

Options:
Same as p-n diode levels
p-11 B$BrEH S Do

1. %

Less than p-n diode levels

_ bn s & 0T %078
2.

Very much less than p-n diode levels

_ b GO3rE & Sy rer 68020
3.

More than p-n diode levels
p-1 B S 0T DB

4.+



Question Number : 89 Question Id : 7336876268 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The current gain of a transistor in CE mode 15 49. The current gam in common
base CB mode 1
CE darsdodS (6700 g ey G0 49, 9000 CB Do ek
RaTsY 230 DEN

Options:

1.98

1. %

0.98

2.

9.8
3. %

8.9



Question Number : 90 Question Id : 7336876269 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The BJT 1s a

BIT 12500

Options:

Current Controlled device

D35S |DIPSS0 DODOBOTT FTCISS0
1.

Voltage Controlled device

- S22 (5735300 QONOSOTI 3550

Resistance Controlled device

DB ESEX0 DONOEBBOTI I3
3, %

Impedance Controlled device

QAR €955 [DeT5T300 DONOSIOTI ATEIAIN
4, %



Question Number : 91 Question Id : 7336876270 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
In an NPN transistor circuit. the collector current 1s 15mA. If 95% of electrons

emitted by the enutter reaches collector, then the base current i
NPN 167026 ¢ $855 Dz 1SmA. 6D I8N JOIFS oS 95%
0 50 D0 T ACDIS [DTFaTNEN

Options:

0.79mA

1.¢

2mA
2. %

4mA

3. %

0.45mA
4, %



Question Number : 92 Question Id : 7336876271 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The conditions required for Transistor Oscillator
1570 )00 EE0M DATAINEIZ ST DaDODIN

Options :

Positive feedback, AP =1, Total Phase shift = 0° or multiple of 360°

, G88 HI0)FH0 AP =1, Fwéo ¢FTcio 0° or 360°

Negative feedback, AP =I1. Total Phase shift = 0° or multiple of 360°

20076928 o) 301330 AP =1, Jwedo FEcso 0° or 360°
2. %

Positive feedback. AP =0. Total Phase shift = 0° or multiple of 360°

i} Gared 8 DBy F90 AP =0, Jwo 7Ecko 0° or 360°
3,

Negative feedback, AP =1, Total Phase shift =180 °

2007076528 D)8 JIF0 AP =1, Jwedo ¢H3°180°
4. %



Question Number : 93 Question Id : 7336876272 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The advantage of using negative feedback i amplifiers 1s
E7Q)0E SPEOS 22067528 5)IB) SFo50 EedTIPAOTNEISDS

Options:

Increase distortion
DATNED DD D

Reduce Stability
DGeb c0 edDD

Increase Bandwidth

83 Scsen) DEH D
3.¢

Increases noise
206 DD



Question Number : 94 Question Id : 7336876273 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

RC phase shuft oscillator uses SpF Capacitors. The value of resistance R
required to produce a frequency of 800 KHz 1s

RC &4 DaPde B80S Sardtb © dens SpF . 800 KHz o ar:
o)A POCHEIT TN R ened

Options:

39.8 KQ

28.1 KQ
16.2 KQ

229 KQ



Question Number : 95 Question Id : 7336876274 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
An optical coupler provides
2.8 @80 £08 T GBI

Options:

Resistance
D Ca00)

1. %

Isolation
, v OFBAS
Induction
(25

Amplification
S8%o



Question Number : 96 Question Id : 7336876275 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
The region of FET is used for amplification 1s
FET S°Q [a7°0[5550. s5GE0m e DT $¢8eD

Options:
Saturation
e i \/-_.}

| v 0By

Cut off
, % 58 e85 |Trosdn
Active
IBOSrae

3. % _

Non-Saturation

V4 w,
4w E900Ed)a)



Question Number : 97 Question Id : 7336876276 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
SCR 1s
SCR 0058

Options:
Four layer .,Four Junction device
4 PGe . 4 DO K G eI

1. %

Two Layer. three Junction device
5 % 283N, 3 AOEHEN 1) APGIRIN

Four layer, three junction device

L. 4 PG, 3 QOGHEN HO AP0

Three layer, two junction device

. 3 &PGeN , 2 QOGN He) AP



Question Number : 98 Question Id : 7336876277 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

When all the mputs are i same state (0 or 1), then the output 1s zero, the
gate 1S
D33 HoSehdnen @) 2.8 DBS &) (0 or 1), &= )% HoTehan
3500005t €8 585y, 6 58030 (logic gate)

Options:

OR gate

NOR gate
2. %

AND gate
E

XOR gate

4.+



Question Number : 99 Question Id : 7336876278 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0
According to De Morgan theorem (X+Y) ' =
B30 DADXM (DG (X+Y) ' =

Options:

b, A

1.¢

7V NN
2. % XY

| F
3. % X'+Y

B Pl
4. % XY

Question Number : 100 Question Id : 7336876279 Question Type : MCQ Option Shuffling :
Yes

Correct Marks : 1 Wrong Marks : 0

The decimal equivalent of hexadecimal number 8A6 1s
8A6 NCF0FED DO QaITededNON) CHF0F DN
Options:

1422

1. %





